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SN AMEEHY

M ALY IIX DS (SSoH Lo/ AY - AHE)

o9 KSIbseh APFYIIE 25 (S5 &)
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
A Xl EE(=21) s 49,140

403 XXIEHSA201H 119,340 110,160 9,180
= 70,200
= 49,140

01 XXESHI=2EX 119,340 110,160 9,180
Q&g Xl EERS 119,340
= 70,200
< 49,140

UAESHEA(ZD) 4,120 5,600 A 1,480
= 4,120

403 XXIEHSA=01H 4,120 4,200 A 80
=2 4,120

01 XXIEHX2EX 4,120 4,200 A 80
O HSH XA 4,120
= 4,120

At MEH - 38 Jls Sd 8,893,519 6,358,335 2,535,184
= 7,675,070
& 1,218,449

LAY SEM (=1 8,763,519 6,195,837 2,567,682
= 7,575,070
= 1,188,449

202 OdHl 8,000 10,000 A2,000

01 =LHAHI 8,000 10,000 A2,000
OtEEllsHEES S ES2L 8,000

206 = Hl 1,869,753 0 1,869,753
= 1,869,753

01 M=z 4l 1,869,753 0 1,869,753
Ot oS M A 1,869,753
- 1,869,753

307 glz2told 350,583 340,830 9,753
= 225,503
= 125,080

02 2I2tda=gx 350,583 340,830 9,753
CES=FI=N 50,000




SN AMEEHY
Mz A2AA2Io] JIX| F DS (sSoll LB/ A - ALE)
Gt ALE MEY - B8E Jis & (&2 &2
SA - EH .S (BH) - MBAY - B Ofl A o4 gggf; HRS2
= 25,000
< 25,000
O3 AHNSE A 300,583
= 200,503
== 100,080
308 AHXIEHHSO0IA 6,527,183 5,845,007 682,176
= 5,475,814
= 1,051,369
01 AXSHHIABEZ 6,527,183 5,845,007 682,176
oM=L M (55) 6,527,183
= 5,475,814
o= 1,051,369
405 KH&HFSHI 8,000 0 8,000
= 4,000
= 4,000
01 XNAMNLEEFSHI 8,000 0 8,000
OnEYoisuEF 8,000
= 4,000
< 4,000
AU EH(21) 130,000 161,498 A 31,498
= 100,000
== 30,000
403 XXM SK201H 130,000 0 130,000
= 100,000
= 30,000
01 XXSHMA=2EX 130,000 0 130,000
OltSFHRHEALIRHEES 130,000
- 100,000
= 30,000
MEXRAS BNES 3,145,908 3,102,877 43,031
= 2,717,553
= 84,425
== 343,930
25+ Y RIANIES 84,425 76,270 8,155
= 84,425




SN AP
M QALY X Z DS (SHoHAAH/ UL - AE)
oo NEXRO FHES (el xg)
SN SR (EH) - MRAY - B 0f & o Soe DB
403 XXIEHSA201H 84,425 76,270 8,155
= 84,425
01 AXISHMIA=2EX 84,425 76,270 8,155
OEs+&H| 84,425
= 84,425
W2 B522(2D) 179,645 180,007 362
= 164,025
s 15,620
202 044 23,270 23,040 230
= 23,270
01 =2UWnHl 23,270 23,040 230
OHSEHUAES2CIES 23,270
= 23,270
301 ErEA S 19,298 48,337 229,039
= 19,298
12 JIet243 19,298 48,337 29,039
OMFASHALEEY 19,298
= 19,298
403 AXIEHSXH=01H 137,077 85,992 51,085
= 121,457
= 15,620
01 AX=HMA=2EX 137,077 85,992 51,085
CHEEE RS EEE! 187,077
= 121,457
< 15,620
W2 ASTR(2D) 2,881,838 2,796,600 85,238
= 2,553,528
= 328,310
403 XXIEHHSA=201E 2,881,838 2,796,600 85,238
= 2,553,528
S 328,310
01 AXSHMA=2EX 2,881,838 2,796,600 85,238
OBFUAASKAANL 2,881,838
= 2,553,528




SN AT
HME: AAMNY Xl A DS (SHS L /LY - HE)
ool ARTEC BHBS (chol: a2
RA B SA(BH) - NRAY - B 01 e HRE2
= 328,310
NYRs - BY BY 5,061,683 3,447,591 1,614,092
2 1,490,232
2 2,534,000
= 1,087,451
(DR, AL U NEHE 20,000 50,000 30,000
207 oLyl 20,000 50,000 30,000
JEEEEET] 20,000 50,000 30,000
ODRX4MHL L NEHE 20,000
NHELE T4 (2D) 2,945,600 1,875,000 1,070,600
2 2,534,000
= 411,600
403 RXSHSKZ0IH 2,945,600 1,302,000 1,643,600
2 2,534,000
= 411,600
01 NXSHHAERE 2,945,600 1,302,000 1,643,600
OX A ESYTY 2,945,600
2 2,534,000
= 411,600
Sz FHl(22) 1,112,520 649,015 463,505
2 672,400
= 440, 120
403 RXSHSKZ0IH 1,112,520 557,333 555, 187
2 672,400
= 440, 120
01 RXESHKZLE 1,112,520 557,333 555, 187
CENEERTH 1,112,520
2 672,400
= 440,120
MY MBIASE(2D) 983,563 296,769 686, 794
2 817,832
= 165,731
202 o1t 7,719 0 7,719
2 4,632
= 3,087




SN MR
A AAMEO| JIX| H DS (SEHLSL/AY - ME
ol MRS BY BY (e19: @8
FAH-FH-SASA) - NRAE - BE=Z Ol &+ 9K %Eﬁiﬁ HwsZ
01 =00l 7,719 0 7,719
CEFINZEIN 7,719
2 4,632
= 3,087
308 KXISHASOIH 975,844 296,769 679,075
= 813,200
= 162,644
01 XNASHILRES 975,844 296,769 679,075
OLEAHIAZ 20| 975,844
2 813,200
= 162,644
Arglo] Boldls st 1,825,000 4,308,974 ~2,478,974
= 250,000
= 1,000,000
& 575,000
429 L MYSSH ZH(2D) 1,500,000 1,902,000 402,000
= 1,000,000
= 500,000
403 TXISHSKHZO0IF 1,500,000 1,500,000 0
= 1,000,000
= 500,000
01 XXCSH=2E 1,500,000 1,500,000 0
0+2AXH 1,500,000
2 1,000,000
= 500,000
RMASHEEH(2D) 325,000 0 325,000
=2 250,000
= 75,000
403 XHXISHHIS K201 H 325,000 0 325,000
= 250,000
= 75,000
01 XXSH=ESE 325,000 0 325,000
CREP R R 325,000
2 250,000
= 75,000




SN MR
A ZAMEO| IR A DE(SHL /AL - AE)
Ol ME=XZ2 5 (e19: @8
_ _ _ SIEN
SN EB -GS - MBAY - BES 0 & 24 e HRE2
ME=XZ2 &5 3,586,000 3,120,652 465,348
= 242,000
= 2,427,000
= 917,000
=1 BOE YO LAE FIISYFZ 11,000 3,000 8,000
202 OiHl 8,000 0 8,000
01 =Uofdl 8,000 0 8,000
OUBYRSHEY U =XR2LRET 8,000
301 YstPAZ 3,000 3,000 0
10 BAAHIEAZ 3,000 3,000 0
CINELTEEF/PoE=p] 3,000
stE x4 33,000 5,000 28,000
403 XXISHSKH=0IH 33,000 5,000 28,000
01 KXCHGESE 33,000 5,000 28,000
CEIMEE ST 33,000
TAlE FH(2D) 3,227,400 2,655,700 571,700
= 2,427,000
= 800,400
403 XSS KH=0IH 3,227,400 2,650,700 576,700
= 2,427,000
= 800,400
01 XXCSHIESE 3,227,400 2,650,700 576,700
CINEESE 904,800
2 696,000
= 208,800
ONBLEH 307,600
2 181,000
= 126,600
oMEBAXH 2,015,000
2 1,550,000
= 465,000
TAZ MEHEAHZD) 314,600 167,500 147,100
= 242,000
= 72,600
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SA

s
B 2
g

JHA E DS SAMSSA/AY - AE)
CHol: AZBIX| AIAE 23 (crel: &2
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
308 RHXISHAISOIA 3,008,592 2,562,000 446,592
01 XXSHHBABES 3,008,592 2,562,000 446,592
OXHA EHR AHE Ol 2 B S X1 @ (324l ) 388,800
ORISEHASU LSS S (2,266%) 271,920
©F X A2 24 Al B X1 (932 1,207,872
OAHE 0l 2+ 8| 4 XH(6LH) 1,140,000
MEXS ZSHSENEE (2D) 4,459,815 4,438,810 21,005
= 3,152,500
< 1,307,315
308 RHXISHHISOIA 3,022,827 2,385,717 637, 110
= 2,084,708
= 938, 119
01 NXSHHBABES 3,022,827 2,385,717 637, 110
OAHZ 2 XITH R (95) 3,022,827
= 2,084,708
< 938, 119
403 KHXISHISHZ0I A 1,424,488 2,038,093 613,605
= 1,062,792
= 361,696
01 XX E 1,424,488 2,038,093 613,605
OAHE XTI R (155) 1,424,488
=2 1,062,792
< 361,696
405 XtabE S| 12,500 0 12,500
= 5,000
= 7,500
NI EEEEET] 12,500 0 12,500
OMET 2 LTGPS 4,500
= 1,800
< 2,700
OEHELEII(100H) 8,000
= 3,200
< 4,800
MERsLsH(=1) 3,681,897 3,147,354 534,543




SA

s
B 2
g

JHA E DS SAMSSA/AY - AE)
CHol: APEUR] AIAE A3 (crel:®e)
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
MERSLEH(=D) = 3,068,248
= 613,649
308 Xt EHHISOIH 3,681,897 3,147,354 534,543
= 3,068,248
< 613,649
01 KXSHBALES 3,681,897 3,147,354 534,543
O E B S ATHALYS 3,681,897
=2 3,068,248
< 613,649
NS AP (A 2D (OIEHIIEH) 35,260 33,529 1,731
= 35,260 33,529 1,731
SN2 JI=2Y 35,260 33,529 1,731
201 Yer2gy| 24,720 19,209 5,511
01 At22r2l| 22,220 17,209 5,011
ORNEY AR 22 22,220
02 ZzZe| 2,500 2,000 500
oORNEY 222y 2,500
202 Ol 8,640 9,120 2480
01 =LHoiI 8,640 9,120 1480
oORMEY 2ol 8,640
405 XtabE S| 1,900 5,200 A3,300
01 KAYL2EFSH] 1,900 5,200 13,300
OHHIR (20H) 400
©2I X+(107H) 1,500




